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     TIME: 2 HOURS
INSTRUCTIONS:   
ANSWER QUESTION ONE (COMPULSORY) AND ANY OTHER TWO QUESTIONS

Rates of Tax (Including wife’s employment, self-employment and professional income rates of tax)

Year of Income 2015

Taxable Employment Benefits – Year 2015

	Monthly taxable pay shillings
	Annual taxable pay shillings
	Rates of tax in each shilling

	1 – 10,164
	1 – 121,968
	10%

	10,165 – 19,740
	121,969 – 236,880
	15%

	19,741– 29,316   
	236,881 – 351,792
	20%

	29,317 – 38,892
	351,793 – 466,704
	25%

	Excess over – 38,892
	Excess over – 466,704
	30%


Personal relief Kshs. 1,162 per month (Kshs. 13,944 per annum)

	
	Prescribed benefit rates of motor vehicles provided by employer


	
	
	Monthly rates

(Kshs.)
	Annual rates

(Kshs.)

	Capital allowances
	(i) Saloon, Hatch Backs and Estates
	
	

	Wear and tear allowances
	Upto – 1200CC
	3,600
	43,200

	Class I          37.5%
	1201 – 1500CC
	4,200
	50,400

	Class II        30%
	1501 – 1750CC
	6,800
	69,600

	Class III      25%
	1751 – 2000CC
	7,200
	86,400

	Class IV      12.5%
	2001 – 3000CC
	8,600
	103,200

	Industrial building allowance
	Over – 3000CC
	14,400
	172,800


Industrial buildings 

25%

(ii)
Pick-ups, panel van (unconverted)
Hotels 



4.0%






Farm works allowance
33.3%

upto
1750CC
3600

43,200

Investment deduction allowance

over 
1700CC
4200

50,400

2013 
–
70% 



(iii)
Land Rover/Cruisers OR 2% of the 

initial capital cost of the vehicles for each
2014
–
100% 




month whichever is higher.

2014 
–
100%

Shipping Investment deduction

40%

Mining allowance:

Year 1

40%

Year 2 – 7
10%

Commissioners prescribed benefit rates

	
	Services
	Monthly rates

(Kshs.)
	Annual rates

(Kshs.)

	(i)
	Electricity (communal or from generator)
	1,500
	18,000

	(ii)
	Water (communal or from a borehole)
	500
	6,000

	(iii)
	Provision of furniture (1% of cost to employer)

If hired, the cost of hire should be brought to charge
	
	

	(iv)
	Telephone (Landline and Mobile phones)
	30% of bills


Agricultural employees:  Reduced rates of benefits
	(i)
	Water
	200
	2,400

	(ii)
	Electricity
	900
	10,800


Low interest rate employment benefit
The benefit is the difference between the interest charged by the employer and the prescribed rate of interest.

Other benefits:

Other benefits for example servants, security, staff meals etc are taxable at the higher of fair market value and actual cost of employer.

The current VAT rate is 16%

Marks allocated to each questions are shown at the question show ALL your workings.  Any assumptions made must be stated.

Question One (30 Marks)
a)
The recent debate relating to importation of goods through the port of Mombasa has had one of his issues the amount of tax assessed.  Specify and explain clearly at least three (3) ways in which the Government may lose tax revenue on imports.

(6 Marks)

b)
Suggest three (3) possible ways in which the Government may present loss of tax revenue from imports.








(6 Marks)

c)
Should citizens feel obliged to pay tax?  Explain.



(3 Marks)
d)
Briefly account for different kinds of taxation as applied in Kenya.

(10 Marks)

e)
Distinguish between tax evasion and tax avoidance.



(3 Marks)
Question Two (20 Marks)
Mr. Ole Mboga is married to Pesa Mboga.  Ole Mboga if a registered engineer and he is the proprietor of Leta Engineering Services a firm of consulting engineers.  He is nevertheless fully occupied as an employee of Zeta Construction Limited.  His company is therefore managed by his wife who draws Kshs. 50,000 per month as salary.  PAYE of Kshs. 20,000 per month is deducted are remitted to the commissioner.

Zeta Construction Ltd provided the following emoluments to Mr. Ole Mboga for the year ended 31t December 2005.

1) Salary of Kshs. 150,000 per month (PAYE deducted and paid to the commissioner Kshs. 62,000 per month).

2) Housing – Free housing is provided with water and electricity.  He pays a nominal rent Kshs. 10,000 per month.  Water consumed was for Kshs. 4,800 and electricity consumed was for Kshs. 18,000 during the year.

3) 1,000 ordinary shares for past years of service.  Last valuation of shares was at Kshs. 50 each.  The issued share capital is now 25,000 shares.  The company paid a dividend of Kshs. 10 per share on 31st December 2005.

4) Company car of 2,000CC.

5) Leave pay equal to one month’s salary.

6) Life insurance premium per each household member of Kshs. 10,000 per annum.  This covers himself, wife and son.

7) Pension at 10% per month.  He contributes 5% towards the same scheme.  The scheme is registered.

Leta Engineering Services made an assessed loss of Kshs. 400,000 for the year of income 2005.

Mr. Ole Mboga own’s property which he bought many years ago.

Rent Income account for the year 2005 is as follows:

	
	Kshs.
	Kshs.

	Gross rent
	
	300,000

	Less:
	
	

	Loan repayment
	150,000
	

	Interest on loan
	125,000
	

	Fencing
	30,000
	

	Caretaker Wages
	55,000
	

	Insurance, rent and rates
	25,000
	

	Replace broken doors
	85,000
	470,000

	Loss to be carried forward
	
	170,000


Required:
a)
Taxable income of Mr. Ole Mboga for the year of Income 2005.

(12 Marks)

b)
Tax payable by Mr. Ole Mboga for the year of Income 2005.

(5 Marks)

c)
Mr. Ole Mboga is being invited by Tana Ranching Company Ltd to be their Manager and reside at the farm.  What will be the tax implications of this?  Explain but do not compute if he takes up the offer and everything remains unchanged other than the residence.










(3 Marks)

Question Three (20 Marks)
The trial balance of Kitu and Watu, trading a partner and sharing profits in the ratio 2:3 as at 31st December 2005 in as follows:

	Capital
	Kshs.
	Kshs.

	Kitu
	
	3,600,000

	Watu
	
	5,221,000

	Factory building
	5,000,000
	

	Furniture at cost
	750,000
	

	Factory equipment at cost
	2,000,000
	

	Director’s car at cost
	1,000,000
	

	Provision for depreciation
	
	710,000

	Depreciation expense
	115,000
	

	Debtors and prepayments
	1,050,000
	

	Stock as at 31st December 2005
	1,042,000
	

	Creditors and accruals
	
	853,000

	Balance at bank
	720,000
	

	Gross profit on trading
	
	4,165,000

	Rent and rates
	300,000
	

	Office salaries
	826,000
	

	Partners salaries
	600,000
	

	Advertising costs
	210,000
	

	Transport costs
	236,000
	

	Deposit on new equipment
	100,000
	

	Short term investment
	600,000
	

	
	14,549,000
	14,549,000


The following additional information is provided:

1) Rates and rates are for fifteen months to 31st March 2006.

2) The partners have contracted to purchase new equipment for the factory at a cost of Kshs. 500,000.  A debt of Kshs. 100,000 was paid during December 2005 and the remainder will be paid during January 2006 when __ is expected.

3) The factory building has been revalued from Kshs. 4,000,000.

4) The partnership started operating on 1st January 2005.

5) Partnership salaries are taken equally.

6) Interest on capital is to be provided at 10% on balance given.

Required:

a)
Taxable partnership profit for the year of income 2005.


(15 Marks)

b)
Show the allocation between partners.




(5 Marks)

All computation and support notes must be provided.

Question Four (20 Marks)
Taxation is a necessary evil.  Discuss this motion in the Kenyan context.

(20 Marks)

Question Five (20 Marks)

a)
State and briefly explain four (4) factors which influence the taxable capacity in a country.








(6 Marks)

b)
“Government in developing countries tend to over tax individuals in formal employment”.

(i) Using suitable examples explain why Governments found it convenient to continually raise higher taxes on earnings from formal employment.










(6 Marks)
(ii) Suggest and explain one proposal on how the Government can be able to generate tax revenue from the informal sector.




(6 Marks)

c)
Normally in Kenya a trader is required to pay for a variety of licenses in order to conduct trade. 

(i) Do you consider a license to be a tax?  Explain.


(1 Mark)

(ii) Specify four (4) of such licenses.




(4 Marks)

(iii) In Kenya there is a proposal for the Government to issue a single license to a trader in preference to the practice of issuing a variety of licenses.  Would you support this proposal?  Why?





(1 Mark)
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